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: allwo -4
: g0 (M) v Jaall glajl yols
3
950m X E =570m

: (hm) wl| Jgaill
570m=57hm ; 950m=9,5hm
: o (ha ) U Jaall aalwo
5,7 x9,5=54,15 ha
: 9@ ( DH) u )l 12® agoa wnall @luoll
54,15 x 68000 dh = 3682200 dh

: &yglholl 6aagll wll Jgal
6,344 km 5,1 hm 314 cm = 685,714 dam
8,5t 15 kg 247,3 hg = 85,3973 q
27/10 ha 18,34 a 3400 m? = 28868 m?
0,82m*4hl 0,19 dm®=1220,19 |

: allwo -5
: 9o ol 3 JUa jllb &yl gl ojWl clall a3a
471 x 20 x 3=282601
1o (m) v gl 62cld glow
R=3+2=15m
: 9o (m) v ylidl 6acld aaluwo
S=RxRxMN=15x15x3,14= 7,065 m?
: g0 u glialb <lall glay)l
28260 | = 28,26 m? : lwal
28,26 +7,065=4m : pal
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